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307 212t0| & 33,143 31,900 1,243
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01 Al B & X 262 2,286,000 1,728,000 558,000
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101 @1 214| 260,500 740,200 AN479,700

- 206 -




2N
X ZH -
L= B

el

H™ H M

el =Xt
a=ExEd
SdEoy & oS

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
04 JIZHHZ2XREES 260,500 740,200 AN479,700
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2l 4,000,000& 4,000
201 LB-2%H| 4,700 6,000 21,300
01 At 22l 4,700 6,000 A 1,300
o Lelgdiel =8 ~22F 8
9,000& = 100¥ = 35 2,700
o AIZEHLEH 22|
2,000,000& * 1002 2,000
206 M= Hl 1,500 1,500 0
01 =8l 1,500 1,500 0
o ANS22HUEH S53&X Ml
1,500,000 1,500
oladxtel o AtslEsXd E#U(EX) 3,329,133 2,024,790 1,304,343
= 1,664,566
< 499,370
i 1,165,197
101 @124l 3,290,983 1,998,880 1,292,103
= 1,645,491
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04 JIZHHZ2Z2XNESE = 3,290,983 1,998,880 1,292,103
o LoldXtelArY EHOA =4l S(12059)
356,998,777& » 9 3,212,989
= 1,606,494
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s 1,124,546
o LOoIdXIeIAtY MEQE 1|
2,166,500& » 3H » 128 77,994
= 38,997
< 11,699
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201 £B-2dH| 36,150 23,910 12,240
= 18,075
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1,500,000& * 1JH 2 1,500
coEgEH 2¢ 9,320 9,320 0
307 gl2tol & 9,320 9,320 0
11T M SXAISE EX 9,320 9,320 0
o LolgtEe 2 (2HIFIt)
9,320,000& * 1002 9,320
CogEHt 2H(EX) 4,000 3,500 500
< 2,000
i 2,000
307 21201 A 4,000 3,500 500
< 2,000
[ia 2,000
11T AL S XA E = 4,000 3,500 500
o Lo gEH 2F 4,000,000 = 10H 2 4,000
< 2,000
e 2,000
22" 24X& 1,617,305 1,390,850 226,455
307 glz2tol & 1,117,305 1,060,850 56,455
02 It M AMHEE 7,905 2,000 5,905
o ZRYIZ Y 2|kt S
20,000& = 18 = 100 2,000
o FREZ=ZY 2e|Xt HHl FIOMXA(4U
28 8) 5,905,000& = 1H 5,905
06 283 44,200 43,550 650
o dZ2Y MUEEZ 130,000 * 34000 A& 44,200
10 ALSISXAIEEE2GHEX 1,065,200 1,015,300 49,900
o BAE2Y BHEgH(34000 &)
80,000,000 = 12& 960,000
o BARY 2IHI(MRES)
1,560,000 * 50 A 7,800
o ZA2Y SEHI(2HIFIH)
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o HA2Y JIEME NI (WHD )
1,500,000& = 2000 £ 30,000
o A2Y JIEME KNS (AIIMADI)
50,000,000 * 14! 50,000
° J2E ABEXRIF X (20X S)
2,000,000& = 60JH 2 120,000
o Y2 NSYFEAI| &
2,500,000& = 4000 2 100,000
A2Y 291 SHXRF(EX) 462,632 492,632 A 30,000
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307 2iz2to| A 462,632 462,632 0
& 92,526
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02 QIZIA AAIE E X 27,132 27,132 0
o HAY EZ2)a ekt
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& 5,426
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10 MM SAANEEESIHEX 435,500 435,500 0
o AzY 29X 1,300,000& * 3350 A 435,500
= 87,100
= 348,400
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= 181,904
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307 QI2t0| ™ 727,614 651,396 76,218
= 181,904
= 181,904
= 363,806
10 AISI EXAIEEHE2IHIEX 727,614 651,396 76,218
o Az E YWaty| 100,000 = 338 A + 2& 67,600
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& 16,900
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Lo gorgsdl XA 5,100 0 5,100
301 et 8= 5,100 0 5,100
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< 11,113
s 33,337
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< 11,113
s 33,337
1T AISI SXAIE B & 44,450 44, 450 0
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< 11,113
s 33,337
M= XAE SS2AX X 74,600 69,400 5,200
307 21201 A 74,600 69,400 5,200
10 M2 SXNANEHE2IHEX 46,800 41,600 5,200
o MIH=Q=2XAIE Ss=22AX 2SH|
1,800,000& » 2% » 138 46,800
11T AL S XA E = 27,800 27,800 0
o MIH=Q=2XAIE S22AX AHSHI
5,000& = 70 = 52= 18,200
o 0ls=2=2 M| 8,000& = 50 = 243 9,600
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307 glz2tol & 96,934 89,134 7,800
05 RIZHRI & 3 96,934 89,134 7,800
o ZEMNYYE 2 96,934,000& = 1004 96,934
401 Al HIZ 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
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20,000,000 = 10024 20,000
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%)
J| 6,028
< 1,809
s 4,219
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o FBZAY g4 45,425,000 * 302 136,275
J| 54,510
[ia 81,765
S2 ML et A D] 59,400 59,400 0
301 et a3z 59,400 59,400 0
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J| 26,000
- ASI = XA 30,050,000& * 2H 60,100
J| 60,100
201 Let24E] 53,000 0 53,000
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201 Let24E] 3,000 1,250 1,750
01 At 2t 2l 3,000 1,250 1,750
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01 At 2t 2l 17,587 15,587 2,000
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o s&EJ M&FEd X 200,000& * 30 6,000
02 =224l 23,200 23,200 0
o MIle=a 1,500,000& = 12& 18,000
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o SY¥3 FA 400,000& = 14 400
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
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2,000,000& = 14 2,000
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